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Answer the following Questions.
1. Russias two influential political parties, the Union of Right Forces and the Literal Yahloko
Movement, agreed to unite their organizations into a strong right — wing coalition. They

propose to have a common list of candidates in the next parliamentary elections. What

form of Power Sharing is this? 1M
2. State the prudential and moral reasons for power sharing? 4M
3. Why did women workers in Britain attack the Spinning Jenny. 1M
4. State as to why the port of Surat declined by the end of 18" century. 1M

5. Explain the miserable conditions of Indian weavers during the East India Company

regime in the 18™ century. 3M
6. The following terms. 3M
(A) Biotic

(B) Earth Summit, 1992
(C) Sustainable development
7. Explain land use pattern in India and why has the land under forest not increased much
since 1960-617 4M
8. Locate the following in the given outline map of India. 3M
(a) Alluvial Soils
(b) Arid Saoil
(c) Laterite Soils

9. What is the main criterion used by the world Bank in classifying different countries?

What are the limitations of this criterion if any? 3M
10. Distinguish between the National Income and Percapita Income? 3M
11. Which values are associated with Sustainable development? 4M
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